Timester Challenge

Harder Percentages

Marks wage was £42,500 his new wage is
£60,350. What is the percentage change?

Bronze‘*

Lisa bought a jumper in a 18% sale.
What was the original price?

Jon bought a house for £225,000, unfortunately
his house price has decreased to £195,750 in the
recession. What is the percentage change?

Bronze‘*

Rob weighs out 35% of 240g midget jems.
He then places 12% of this in a bag.
How much is in the bag?

A piece of machinery originally cost
£12,500. It depreciates in value each
year by 4%.

a) How much is it worth after 1
year?

How much is it worth after 2
years?

How much is it worth after 5

year?
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